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SECTION-A
I} General Awareness
1. Hitler Party which came into power 7. For seeing objects at the surface of
in 1933 is known as water from a submarine under water,
(A) Labour Party the instrument used is
(B) MaziParty

(&) Kaleldoscope

(C) Ku-Klux-Klan
(B) Periscope

(D) Democratic Party
{C) Spectroscope

2. Country that was called as land of (D) Telescope

Rising Sun
{A) BRussia (B) Japan 8. In which year, lerrorists crash two
| (C) Kﬂ[fﬂ (D) Holland planes into New York's World Trade

3. Famous sculptures depicting art of kove Centre on September 11 in a

l built =ome fime In 850 AD — 1080 AD sequence of destruction 7
are (A) 2000 (B) 2001
| (B) Jama Masiid
) (C) Sun tempie 8. In cricket, the two sets of wickats are
(D) Mahabalipuram temples (A) 18vyards apart

(B) 20 yards apart
(C) 22 yards apart

4, The river that flow through Delhi

(A) Ganges (B) Indus
(C} Yamuna (D) MNarmada (D) 24 yards apart
3. The world largest desert is 10. India's first indigenously buill
(A} Thar (B) Kalahar submarine was
(s Sl (D) Sonoran (A) INS Savitr
6. Which soil is suitable for agriculture 7 (B) INS Shalki
(A} Rad soil (8) Sand (C) INS Delni

{C) Black soil (D) Peaty soil (D) INS Vibhuti
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11.

12.

13,

14,

{1

" (A) Basketball

With which sporis is the Jules Rimet
Trophy associated 7

(B} Football

(C] Hockey (L) Golf

Mational Defence Academy Is

situated at
(A) Khadakvasls (B) New Delhi

(C} Wellington (D) Dehradun

Penicilih is widely used as
(A} an antiseplic

{B) adisinfectant

(C) anantiblotic

{D] an insecticide

The famous Dilwara Temples are

situated In

(4) Utlar Pradesh
{B) Rajasthan

(G} Maharashtra

(D) Madhya Pradesh

The book of Parsis s
(A) Torah (8] Bible

(C) Zend Avesta {0) Gita

16.

17

18.

18,

20.

T e 3

Which of the following places is
famous for Chikankan work, which is
a traditional ant of embroidery 7

(A) Lucknow

(B) Hyderabad

(C) Jaipur

(D) Mysore

The popular TV senal ‘Neem ka Ped’
was written by

(A] Rahi Masoom Raza

{B) Sharad Josh|

({C) Ashapurna Dewi

(D) Harivansh Roy Bachchan

The programme ‘Gyan Vani' is
breadcasted by

(A) Zea TV

(B} AIR

{C) Sony TV

(D) Doordarshan

Which one of the following is a
Mational Party 7

(&) Bahujan Sama| Party
(B) Communist Party

(C} Mational Congress Party
(D} Al of the above

Which of the following stataments
fsfare correct about RBI 7

{A) It iz a Nationalised Bank

(B} Iti= the Central Bank of India
{C] It was establishad in 1935
(D) Al of the above
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iy General Intelligence and Reasoning Ability

21. Embarrassed is to humiliated as
_frightened is fo

(A) terrified

(B) agitated

(C) ecourageous
(D) reckless

22, Here are some words translated fram
an artificial language.

mallonpiml means blue light
mallontifl means blueberry

L
arpantifl means raspberry

Which word could mean “lighthousa" 7
(&) tifimallon

(B} pimiarpan

(C} malionharpan

(D) pimidoken

Directions for Q. No. 23 and 24 : Each
question has an underlined word foilowed by
four answer choices. You will choose the
word that is a necessary part of the
underlined word

23, gala
(A) celebration (B} luxedo
(C) appetizer (D) orator
24, monopo
(&) corrupt (Bl exclusive
(C)y rich (D) gigantic

Directions for Q. No. 25 to 27 : Each
problem consists of three staternents. Based
on the first two statements, the third
statement may be trus, false or uncertain.

25. During the past year, Josh saw more
movies than Stephen.

Stephen saw fewar movies than
Darren.

Darran saw more movies than Josh,
If the first two statements are true, the
third statement is

(A)  true

(B) ftalse

{C] uncertain

(D) cerain

26. Rover weighs less than Fido.
Rowver weighs more than Boomer
O the three dogs, Boomer weighs the
least.

If the first twa statermnments are trug, the
third statement is

(&) true
(8) false

(C} uncertain

(D} certain
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27. Al the offices on the 8 fioor have
wall-to-wall carpating.
Mo wall-to-wall carpeting Is pink.
Nane of the offices on the 8" fioor has
pink wall-to-wall carpeting.
If the first two statements are true, the
third statemant is
(A) Irue
(B) false
(C) uncerain
(D) cerain

28, Arrange the following in a meaningful
sequende.

1. Book

2. Pulp
Timber
Jungle
Paper
(A} 2.5.1,4.3
@ 3.2,51,4
(C) 4,3.2,51
D) 5.4,3,1,2

L=

29. Arrange the following in a meaningful
sequence

College
Child
Salary
School
Employment
(A) 1.2,4,3,5
B) 2,4,1.53
C) 2.4 815
M 53214

i #= G o o=

A 0B A

Directions for Q. No. 30 and 31 : In each
series, look for the degree and direction of
change between the numbers. In other
words, do the numbers increase of decrease,
and by how much.

30. Look althis senes: 14, 28, 20, 40, 32,
84, ... What number should come
next ¥

(A) 52
(B) 56
(C) 96
(D) 128

91. Look at this series: 201, 202, 204,
207, ... What number should come
next ?

(A) 205
(B) 208
(C) 210
(D). 211

Directions for ©. No. 32 10 35 : Look carefully
for the pattern, and then choose which pair
of numbers comes next 7

32. Lookatthisseres: 15, _ .27, 27,39,
38 ... Whal number should il the
blank 7

(&) 51
(B} 39
(C) 23
(D} 15




27,

28.

24,

Ax

II'IIIIIIIIIIIIIII[IIHIIIH[H

A wret =t vt FfeRi @i aE E
e s g |

wrd it et e T E A R

e w3 S off e | et
F A AR 8 |

aft ugel 31 F94 g9 § o1, T FE D
(A) == (B) %3
(C) wFTFm D) Fifrm

e =nt axdgel e 5wy, |
1. 35

T 4

ez

HITH

EUE

2.51,4,3
3,2.51,4

4.3,2 51
54,312

=

(A)
(B)
(€l
(D)

Frer &1 aaddf 3w 1 sy |
1. WElEOEE

2. T

ELE|

e

CiE

1,2,4,3,5
2,411,573

2.4, 3.1,5
53:2.1.4

S

JDD-26/PGT-HOMSC/ X-14

i (9%, 30 3 31): veis ywen §
w1 & = o FgeE i rE o R
A v e | weem L, e s
gt 8, s a ?

30. W= 14, 28, 20, 40, 32, 64, .. °

31.

STt T A B
(A)
(B)
(<)
(D)

52
56
96
128

YPEe 201, 202, 204, 207, ... § 37
Y
(B}
()
(D)

205
208
210
211
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33. Lookatthisseries: 72, 76, 73,77, 74, 37. 20:11:102: 7
. 75, ... What number should fill the (A) 49
blank 7
: {B) .52
(A) 7O
B) 71 © &
D) 78
(0) 38. 42:20::84: 7
34, Lookatthis saries: J14, L16, __, P20, (A} 31
R22, ... What number should fill the @) a2
blank 7 &
33
(a) 524 )
&
B) Nig D) 34
{C) Mg 39, 121:12:25: 9
(D) T24
(A 1
35. Look al this series: 4. 7, 25, 10, __, By 2
20,16, 19, ... What number should fill ) &
the blank 7
Dy 7
Ay 13
(B) 15 Direction for @ No. 40 : Choose that set of
(€} 20 numbers from the four altermnative sets, that
(D) 28 is similar to the given set,
: d i
345,  Which word does not belong with the 40, (49,25, 9)
others 7
16, 4
(A} comea WL (154
B retina (B) (38,25, 16}
(C)  pupil (C) (35.28.13)
(DY wision (¥ (84, 27, 8)

A= 2
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37, 20:11::102:7

(A)
(B)

48
52
{C) B1

(D) 98

42 : 20'::

(A) 3
(B) 32
(C) 33

(0] 34

39, 121:12:25:7
(A) 1
(B) 2
(C) &

D) 7

forry (w3 . 40) - 22 73 de awe St aEn

wag, e ogg & =ua i |

40. {49, 25,8)

(A) (38,16, 4)
(By (38,25, 16)
(cy (39,26, 13)

(DY (84, 27, 8)
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41.

42.

43.

45

iii} Arithmetical and Numerical Ability

A rectangular field Is to be fencad on
three sides leaving a side of 20 fest

" uncovered, If the area of the fiald s

680 sq. feet, how many feet of fencing
will ba required 7
() 34
(C) 68

(B) 40
(D) B8

If the average marks of three baichas
of 55, 60 and 45 students respactivaly
is 50, 55, 60, then the avaerage marks
of all the students is
(A) 55.33
(B) 5468
(C) 55
(D) Neneof these

The differance between compound
interest and simple Intérest on an
amount of Rs. 15,000 for 2 years is
Rs. 96. What is thea rate of interast per
annum 7

(A) 8
(8) 10
{C) 12

(D) Mone of these

A man Is watching from the top of a
tower a boat speeding away from the
tower. The boat makes an angle of
depression of 45° with the man's eye
when at a distance of 60 metres from
the towaer, After 5 seconds, the angle
of depression becomas 30°. What is
the approximate speed of the boat,
assuming that it is running in still
watar 7

(A) 32 kraph (B8)
(C) 38 kraph (D)

36 kraph
40 kraph

Which of the following numbers is
divisible by eachone of 3,7, 9and 11 7

(A) 639 (By 2079
{C) 3791 (L) 37911

46.

47.

48,

43

The population of a town increased
from 1,775,000 to 2,62,500 in a decade.
The average percent increase of
population per year is
(A} 4.37%

(C) 6%

(B} 5%
(D) B.75%

In how many different ways can the
letters of the word 'OPTICAL' be
arranged so that the vowels always
come together 7
(A) 120

{C) 4320

(B) 720
(D} 2160

Three taps A, B and C can hll a tlank
in 12, 15 and 20 hours respectively, If
A is open all the time and B and C
are open lor one hour each
alternately, the tank will be full in

{A) & hours

(BY & 2/3 hours

(C) 7 hours

(D} 7 1/2 hours

One card Is drawn at random from a
pack of 52 cards. What is the
probability that the card drawn is &
face card (Jack, Queen and King
only) 7
(A) 113
(G} 1/4

(B) a3
(D) @52

Q} Is as much younger than R as he is
older than T. If the sum of the ages of
R and T is 50 years, what s definitely
the ditference between R and O'sage 7

(A) 1 year
(B} 2vyears
(C) 250 years

(DY Data inadequale
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a1.

52,

53.

56.

Threa numbers which are co-prime o
each other are such that the product
of the first two s 551 and that of the
last two is 1073, The sum of the three
numbers is

(A) 75 (B) 81

(C) 85 (D) B8

The sum of two number is 25 and thelr
difference is 13. Find their product.
(A) 104 B) 114

(C) 315 (D) 325

A traln overiakes lwo persons who are
walking In the same direction in which
the train is going, at the rate of 2 kmph
and 4 kmph and passes them
completely in 9 and 10 seconds
respactively. The length of the train is
(A) 45m {(B) S0m

(&) 54m D) 72m

g articles were bought al Rs. 5 and sold
3 articles for Rs. 6. Gain percent is
(A) 30% (B) 33%
{C}) 45% (D) 44%

In a bag, there are coins of 25 p, 10p
andS5pintheratiool1:2: 3. Ifthere
1= Re. 30 In all, how many 5 p coins
are thera 7

{A) 500 (B) 100

(C) 150 (0) 200

A person borrows Rs. 5,000 for 2 years
at 4% p.a. simple interest. He
immediately lands it to another person

1
at 6—

G Pa for 2 years. Find his gain

in the transaction per year,
(A}
(B}
(C)
(D)

Hs. 112,50
Rs. 125
Rs 150
Rs. 167 50

57

a8,

(A} 3:2
(C)

(A)
(C) 8days

In what ratioc must a grocer mix two
varigties of tea worth As. 60 a kg and
Rs. 65 a kg so that by selling the
mixiure at Rs. 68.20 a kg he may gain
10% 7

B} 3:4
3:5 (D} 4:5

Two towns are connected by railway.
Can you find the distance between
them ?

L The speed of the mail train is
12 km/hr mora than that of an
gxprass traimn,

ll, A mall Irain takes 40 minutes less
than an express train to cover the
distance.

(4) |alone sufficient while Il alone not
sufficien! 1o answer

(B} N alone sufiicient while | alone not
sufficient to answer

{C) Either | ar Il alone sufficient to
answer

(B} Both | and Il are not sufficient 1o
Answer

A works twice as fast as B. If B can
complete a work in 12 days
independently, the number of days in
which A and B can together finish the
work in

4 days (B)

(D)

& days
18 days

A rectangular bax is 2 m long and 3.5 m
wide. How many cubic metres of sand

are needed to fill the box upto a depth

of12em ?
(A) 84 (B) 0,84
Gl B4 By 0.084
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51. AT H HE-FHIE AT oA S 57. 60 ufa Fre anham afces s of

&, fon weel ) el 1 pEEe it
£q 2 3t SRER A 51 i hﬁa@mﬁmﬂgﬁ]ﬁﬁﬂam
® | R e g =i forad 68.20 %, wfa frei = =
(A) 75 (B) 81 10% %1 gATH & 7
G2, 21 HEa Fars 25 8 ofl 39 s (C) 3:5 (D) 4:5
£ 13 | ST VRS T S, 21 [
(A} 104 (B) 114 58, e daE g2 H | 30 R = e
(C) 315 (D) 325 AT A L HHA R 7
53, 2 fF. o, ofa a1 ai 4 F o, uft g BREGECE R oo R i
Tﬁﬁ“éﬁﬂﬁ%ﬂaﬁ?n 12 Bt jazrsafas |
3 FAA: § 310 i i T
ﬂﬁﬂmmaﬁ%liﬂﬁ‘ﬁﬂﬁ'{g Ik ﬁﬁ@ﬁqﬁa?ﬂﬂm
(A) 457, | B) 501, 4 & et 40 e mma
(C) Sa. ) 7279 (A) I for et | @ s e
54. @R 5%, H @i s s 5 = || wp7eh) T
1 T T F 3 A A= ] | G (B) I Tere e || =heht 2wl e
e
(A} 30% (B) 33% il
(C) 45% (D) 44% (C) I+ fon wae 13 nwe R

: : sl 3
55. W Al # 25 G, 10 30 s s tET (D) Zae s fom ) i i 26 Tl A
ﬁqﬁ“ a5 E#aﬂﬁﬁtﬁmﬁ 50. A, BB P ® F s B | af v

EEEM b A wm gl s B 12 BAam R, 'r
(A) 500 (B} 100 a1 A 31 B 34T fge a8 = & 1
(C) 150 (D) 200 e 3 gl w7
% (&) 4T B &%= I
: wfaq 5,000 % T auF f
» ?ﬁmﬂmgmﬁaﬁmﬁ (C) sfe (D} 181E

60, UFH ATHARR HoH i eead 2 ot ¥

’
B | 7% = 39 UfiT R 6w A A A <erE a5 9. 81 39w A

2 = % fere ot a3 =rfe 1 2 B | 1278 ). miewed o T v 5 T et

34 =rEEn § T8 9 = 36 HATHE B B T T i s w7

(A) 112.50 3, B) 125 %. (Al B4 {B) 0.84

(C) 150 7%. (D) 167.50% (C} 8.4 DY 0.0R4 :|
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iv) Tesl of Language : Hind|
aran Tl : fEE
e vt = g fafan ) 68. Foar + strea i wft g
- (A) Framm (B) Temrem
1. Wi fFgR i Ee 7 (€) Frams (D) s
(A) el (B) Hfead o s '
iaiﬂﬁﬂ-?ﬂ:"ﬂﬁ'*'ﬂﬁmﬂﬁﬂﬂﬁl
(C) =HlarE (D) =t
_ 69, Wl + 3ff = natf
g2, ‘wan’ w wtrar @ (A) FdEm B) |
(A) ik (B) T (C) T 0y w=Ey |
(©) gt (D) @A .
70, Tl + HHA = TsyrE
63. ‘wifig' = e mma (Ay 2 mfy By TMENY
(A) g9 (B) &= (C) T (D) =
el 9 71, S B 29w e a2 7
64, o 3e i fra o, 3 3 (A) ¥ (B)
(A) s B) fauszf (C) = (D) =
(C) TagA (D) fma 72, fram wam 0 % o 3 e
; \ y st
ES ﬁTTF-FIaT”r'ﬁ"ﬂﬂ ' rg_ﬁmm a_ﬂ_ Ilﬂﬁﬁm
(A) == (B) it fum E |
(C) e (D) = (a) *fem B)
B85 ¥[E T 19T H | . )78
(A) =@ ewEn s fE d & Aifaa | 73 ‘wE-Em sm A s aEE R
(B) Fewm = ¥ i (A) (B) ==
(C) & war = For 9 & (C) wegem (D) fa
(D) =% @ A3 % A 74, ‘v’ s w R
87, Fedt fafem wEen (A) e (B)
(A) T i ET g E W L i \&) T
(8) e fwaE A 75. ‘el wioew Eu R
(C) Fee Fafem =i g (A) (B] sl
(D) wiErE & T v = (C) w D) #h=
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76-80 : 3yl main

FrefeiEgs siEm & enagds 98 39 I
grafi el % Tow fan o s e 6 6
ferres =1 = =

i =fiwan %1 ois w9 # o nidE @ T
7 H FE IR 81 5 | B @ a0
St fgmm == 3 o i 3 sfdm e Feen
ﬁﬂﬁ#mﬁm?ﬂz‘mnaﬁﬁ:ﬁﬂ%ﬂﬁr
wfiel e # s § g av w0 e T
a1 | g s 3 % fow famers wiia et
i it Serem Al B e oft | i & s
o faaail A 9 T4 = i aw 5 I
#1 | 98 39 i 30 FEEEar a6 |
a0 | S 7 w1 9 = sl 8, 08
a4 guE 29 39 w3 6l o 3 5
WL 61, O o wrE A & T amea
F AN | 30 30T T U THA 59 off a7
=1 ¥RA F 30 1 i o s far |

76, 9 SR =1 waifs I o 2
(A} mErmET AT =
WA =1 S &

{B)
(G
(D)

18-

8,
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Fifeaell e weren it 3 qrrE e
Eal

(A) ST B4 F i WG 5]
(B) T = fou afm

(C) THEAM AiEE =+ & o =
(D) =0 8z @13 o Hi

AT 5 = ST e e o i
(A) =g % form

(B) i sufamr fom

(C) wfEmmfE ¥ fom

(D) WWA &Y 23 & o

yfikm s w9 2
(A)
(B)

ST o Teshd
EHEE R e §
(C) =T

(D) & &

L

Frereesr wifer s +d1 3-
(A) TS = %
(B) et s % form
() e 2o & fem
(D) il &= = fem
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B1.

82

K00 O 0 A

v} Test of Language : English
WO GTETOT @ I

Change the Passive : She spoke 1o
the official on duty,

{(A) The official on duty was spokan 10
by her

(B) The official was spoken to by her
on duty.

(C)

She was spoken to by the official

on duty.
She was the official to be spoken
to on duty,

(2)

Select the pair which has the same
relationship

FILTER : WATER
(A) curtail : activity
(B) Yexpunge : book
(C) edit: text

(D) censor: play

Directions for Q. No. 83 and 84 : Choose
the word which is the exact OPPOSITE of
the given words.

83

84,

B5.

A=

MADIA
(A)  Modemity
(C) Liberty

OBSCURE

(A)  Implicit

(B) Obnoxious
(C) Explicit
(D) Peadantic

Zenith
Progress

(B}
(o)

Direct/Indirect speech : She said to
him, “"Why don't you go today 7"

(A) She asked him why he did not go
that day.

(B) She said to him why he don't go
that day.

(C) She asked him nollo go that day,

(D) She asked him why he dig not go

loday.

Directions for Q. No. 86 and 87 : Complele
the statement.

6.

g7

-20-

Even though it is very large house, ...

{A) there isa lot of space avallable In
It for children '

{B) there is hardly any space available
for children

(C} there is no dearth of space for

children

(D)

the servants take a long time to
clean It

It was an extramely pleasant surprise
for the hutment-dweller when the
Govemment officials told him that ...

{A) he had fo vacate hutment which he

had been unauthorisedly
DECUpYIngG

iB) he had been gifted with a furnished
apartment in & multi-storeyed
building

{C) hewould be arrested for wrongfully
@ncroaching on the pavement
oufsida his dweliing

(D} they would not accede lo his
request

Find the comectly spelt words

(&) Friming {B) Bumning

(C) Running (D) Fryng

Find the correctly speit words

(A} Dammage (B) Damaige

(C) Dammeage (D) Damage

A man of straw
(A) A man of no substance

(B) A wery active parson
(C) A worthy fallow
D) An unreasonable person




Directions for Q. No. 91 and 92 : One Word
Substitution

a1.

82,

93

That which cannot be read
{A) MNegligible

(B} lllegible

(C) Inaligible

(D) Incormgible

in a state of tension or anxiety or
suspense

(A] Offbalance
(B8] Depressed
(L) Diffused

(0} Ontenterhooks

Order the words © In the darkness

P . thelong, namow beard

Q: was clarly visible with

R: thetall stooping figure of the doctor
5: and the aguiline nose

The proper sequence should be
(A} RQPS (B) PSQR
(C) RSQP (D) QPRS

Directions for Q. No. 94 and 95 ; [dentily the

Emor.
o4,

85.

A

Solva as per the direction given
abova.

(&) In spite of several reminders,
{B) he did not 50 far send

{C) any reply to me, lettars

{D) Mo ermor

Solve as per \he direction given

above,

{A) As much as | admire him for his
slerling qualities.

(BY | cannot excuse him for

(C) being unfair to his friends.

(D) Noermror

Directlons

JDD-26/PGT-HOMSC/ X-14

for Q. No. 96 and 97 : In the

following the question choose the word

which best
glven word.

expresses the meaning of the

95. IRONIC

[A)
(B)
(<)
()

Inflexible

Bittar

Good-natured
Disguisadly sarcasfic

g7. TIMID

(A)
(B)
(C)
(&)

898. She

Fast
Slow
Medium
shy

a brief appearance at

the end of pany.

(A
(B)
1)

put on
put in
put across

100,

a1

(D) putup

Life is fo death as pleasure isto
(A} poverty

(B} suffering

{C) anguish

{0y pain

The machine isdifficultto build
easy to mamntain

(&) but
{B) and
{C] for
Dy i
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SECTION-B
Post Specific Subject-Related Questions

101: Theword ‘textiles’ comes fram a Latin 1058, TPl is a term used in relation to

word textile which means (A) Yam
(A) Weave (B) Fabrics
(B) Textile (C) Knits
(C) Fabric (0} Weaves
(D) None

106, Staple fibres are short fibres, the

102. Fabrics with low density length ranges from

(A) Rave less weight (A) %—1ﬂﬂm5
(B) Have less cover (B) 1-20cms
(C) Baettarhand ©) 4=o0tis

Resili
(D) esiliency (D) 1—40cms

103. Flax and cotton do nol show pileing
107. SPlstands for
because of

(A) Static which is nil
(B) Hydrophilic fiber
(C) Short length fiber

(A} Seam Per Inch
(B) Selvedge Per inch
(C) Stitches Per Inch

(D) None of the above (D) Nane
104. Artificial silk i 108, The factors affecting fashion includes
(A) Polyester {A) Inflation and Recession
(B) HRayon (B) Population
{C) Acrylic (C) Income
(D) Acetate (D)  All the above




101.

102,

103.

104

A

Wi -9
urez w s Rreg e aw

"STEETE OE IS ol YIeE SRR
% 3 B Foe aoem 2

(A} =

(B) =9=1 (TFaema)

(C) ==

(D) oI5 AHt

ﬁlz{'mma:éﬁq%m
(A} WM %0 e 8
(B) =0 wm a
(C) o B
(D) =reEltET EE 2

W] | whed) N Fum w = T
qAT T
(A)

LS EE T R

(B) 31 {311 Sered g 2
(C) 3% 1 1 ohard i Hieft &
(D) Fod) g 74

&5 19 Wi e
(A) T
(8] =N

(C) Ulkfers
(D) wEE

105. &9 & (TP ) o2 w2 s qeay &

106.

107

108.

JDD-26/PGT-HOMSC/ X-14

ECEAUE ar8-
{A) Ha
(C) &

(B) =72
(D) FArE2

g@hnaq_hwg’ima,méﬂq_ﬁ;a
i

(A) -21—~1uﬁ.#r.

(B) 1-20 #. .
(C) 1-30 &. .

(D) 1-40 4.9,

TH 41 8 (SPI ) F gAaa B
(A) Hmwzg

(B} HrFE W

(C) T==m W im

(D) =rd =i u

Fars 1 Tl s el T e g
Tkt ain g
A

(A)
(B)
(C) T

(D) FTIad
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109,

110.

111.

112

is the wedge shapa in
any pattern that points and ends

_ towards the fullest part.

(A) Dart

(B) Pockst
(C} Seams
(D) Placke

is the line along which

the reverse of a collar turns back.
(A) Et;mght line

(B} Curved line

(C)} Half circle

(D} Rall line

Class 200 series includes all
stitches,

(A) Machine

(B} Hand

(C) Basic

(D) Decorative

The term silhouette is

(A} Stitching out

(B) Stitching In

(L)} Outershape ofany garment

{0)  Inner shape of any gament

113

114.

115

116:

R A 00O A e

Earliar than this, textiles was being
looked after by

{A) Ministry of Commerce
(B} Ministry of Finance
{C) Homa Ministry

(D) None

The office of the Development
Commissioner for Handicraft is

located at

(A) Caleutta
(B) Madras
(C) Mumbai
(D) Mew Delhi

The oriental word ‘Carbasina’ in

Sanskrit means
(&) Linen

(B) Hemp

(C)} Karpasa

(D)  MNone

The trade name of ‘Acetate’ is
(A} Tafeta

(8] Organdy

(C} Hoisery

(D) Viscose




T RO

108.

HHTA BT |
(A) W
(B) ==
(c) e
(D) iz

110. 48 T ta @ Toes o o

Fietl %1 Ierel, I, gEa B |
(A) =i
(B) ﬁhﬁ:
(C) ==

(D) Tie

111, 200 Avi) *jeen § o
i & |
(A) it
(B) ¥
(C) H&
(D) wamEd

112, q7¥E ST T8 s % HeeE |
(A)  aT fEend
(B) afEsT T
(C) Tl off =g = A s
(D) Tt oft e 7 i) s

A

8 T & RN F1 H1E of)
et # qui W o 3 il o 2 s

113.

114,

116
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T YET H9El S sEiE A
(&) FTiUrE YT

(B) Fmd=em

(C) 7wt

(D) =gl

evatitey fommm s 1 wdey o8l
feura 3

(A) T

(B) wEM

(C) T=2
(D) =% @l

Tl TeR RTEIG  H U e
(A) B

(B) ®

(C} =

(D) =k

“witez =i g

(A} 7%

(8) HioiE

(C)

(D) o
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117. In fﬂl‘l(:'!.l' yams there is combination of 121. One micragram of retinol is equivalent
(A) Counts to micrograms of carotene.
(B) Colours (A) 4 (B) B
(C) Malerials (C) 8 (D) 3.4
(D) All 122. Conjunctival Xerosis means
of conjunctiva.
118. H h is required
ow much yarn is required for ) Hardness
weaving a particular length of fabric (8) Blindness
i3 tamed a3 (C) Sofiness
[A) Yarm number (D) Dryness
(B} "e".im weight
123. Failure of growth, irritability skin
1) VATt changes and hair changes are the
(D) Yam length symptoms of
: (A}  Marasmus
119. Sulphur dyes are basically used for
(B) Kwashiorkor
(A) Stone and acid wash 4
(C) PEM deficiency
{B) Air oxidation (D) Fluorosis
(C) Silk
124. 1 Chapat of 20 is equivalant to
(0} MNone of thase e
ricE which yialds anamy
120. Fabric is first treated with dye and then and ______ protein.
treated with mordant (A) ; cup, 70 K. cals, 2 gms
(A} Chrome ’
Bl < cup 7OK cals, 3gms
(8] Metachrome B 3R d
(C) After chrome (G} 1cup, T00K. cals, 4 gms
"
(D] Scourng (D) 5 Gup, S0 K. cals, 2 gms
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117, Bt & g wfeRem dar 121, v gawmm ifeimas
(A) HETE T T 13 o e 8
B (A) 4 (B) &
& (C) 8 (D) 3.8 :
(D) wndt 122, Sraadlan] SRl 1 He & seaaia
#
118. vz Fifren e = w0 497 & fom (A) FERA
1 e P e 8, 38 e § 7 (B) TR
(A) TR (C) e
{B) #TM ¥H (D) FIverer
(C) wrm T 123, & =1 3, Faafuars m ofed
(D) T e ST ST | UiEEA 4R 6w s
A) *
118, Wnﬁaaqﬁﬁ:rﬂﬁﬂw#%m :E: Tﬂﬁmﬁf )
e (C) PEM & =Hi
(A) W 3 anfazam (D) i
(B) oY 1 T
©) T 124 iﬂ;ﬂ;ﬁ;:mﬁ‘r amT:
' 3 K.cals & -
i R, ERw i i amufE s st
120, 9% YeS T H geiaE e ai i 1 "
s e & i o 3 G s "r
o e (B %H.?u.a
(B) HIOFH
. (C) 134, 100, 4
(D) = FEE IR (D} %em. 50, 2

A= 27.
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125. Pulseslacks __butare richin

(A) Lysine, valine

(B) Lysine, tryptophan
{C) Tryptophan, valine
(D) Tryptophan, lysine

126, PFA means
(A) Purified Fatty Acids
(B) Pravention of Food Adulteration
{(C) 1‘IF'ﬂa‘n.rslﬂtir:wm of Fortified Adulterants

(D) Pure Fatty Acids

127. The ares of earth where life exisis is

I called
(&) Atmosphere
(B) Biosphere
(C) Lithosphere
(O) MNone

128. Ten grams of iodized salt provides

pg of lodine.
i (A) B0
(B) 100
Gy 120
(D) 150

128,

130.

131

132.

| P00l N W

acls as a precursor of

niacin.

(A) Lysine

(B) Histidine
(C) Tryptophan
(0} Valine

Find odd one.

(A) NPU

(8) BvY

(C) Douglas bag
{0} NPR

Onions make us ery when shedding.

It is because

{A) Sulphur compounds

(B) Acled upon by enzymes
(C) Produce volatile sulphur
(D) Al of them

Egg has all the nutrients for body:
growth EXCEPT

(A) Calcium
(B} Miacin
(Cy vi.-C

(D} Vit.—E
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125.

126.

127,

128.

A=

e i o S S
oETH e e |

() T, 3l
(B) =i, e
(C) FrgrdA, wier
(D) Tk, et

il

dfu (PFA) 1 784 2

(A) fETEE e AATaEH

(B) Ty 7% 55 Ageztrm

(C) Fdter 31T wideTee sfEezten
(D) v R ey

qe=f 3 i ] ofla Bl B, 30 w6 ©
(A) HTEHVES

(B) SilE-T0%a

(C) THE-HuEs
(D) =1E =

QUM AEEFH AR jg
MAEA AR

(A) B0

(B 100
(C} 120

(@) 150

=23-

128,

130,

131,

132
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Rl SEE e S |
(A) =

B) fmeiEE

() Ba%

(D) aRF

e o e
(A) NPU

(B) BV

o

(C) T

(D) NPR

CJTE e S B4 59 0 T AT R
(A) BeE At

(B) dEEE

T i e e

(D) adt#

Wz o mn & fEEw & oy ad
qfeen & e 56




JDD-26/PGT-HOMSC / X-14

133

134.

135.

138.

Clinching is

{A)  Intentional escape of air from loose

lid
(B) Seality of cans
(C) Adding syrup or brine to a can

(D} HNone

Phrynoderma (Toad Skin) is caused
by

(A) Dq:'ciancy of essential fatty acids
(B) Deficiency of Vitamin A

(C) Deficiency of Iron

(D) Deficiency of Amino acid

Genetic code is carried in
mada up of protein,

(A) DNA

(B) RAMNA

(C) Both (A} and (B)
(D} Neone

Breast feeding is nol given when

(A}  Mether suffers from chronic iliness
{B) Infantis weak

(C) Mothar acquires acuts infection

{0} All the above

137.

138.

139,

140,

in case of nausea., vomiting,
gas-formaton, diarrhoea glve

(A} Liquid diet

(B) Full fluid diat

(C} Softdiet

(D) Clear liquid diet

Glucose is added in the ORS for
{A) Absorption ot sodium

(B) Source of energy

(C) Taste

(0} MNone

Oral fluids does not include
(A) Whey water

(B) Barley watar

{C) Frull punch

(D) All the above

Crisp food is given by 5™ or 8™ month
to the Infant

(A) Diet supplement

{B) Teething

{C] Weaning

{D) Mone




0 A AR R

133, =Fw (fFafam) 2

134,

135

136.

(A) SIS e TFFA § g1 et
m

(B) Tt & qErEs]

(C) eevi-aie st =t fese 7 femn

(D) =S e

FEATSH] (Y ) T R
(A)  SITETEE SEIT ST w1 379
(B) freria® g

(C) FiB 9=

(D) ol s e

ECIEE =) & yitaes f o
BRI BT |

(A) DNA

(B) RNA

(C) A 3B

(D) =i

TS e W F ah) wa
(A) TTET I AT @ T R
(B) T FEEnE

(S} I e wEem e

(D) FHTHEW

137,

138.

139

140,

-31-
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e Wepelt, IETET, T SN wE o =R
T TR = ey

(A) ¥EFEN

(B) "I AR

(C) EET HTER

(D) RS e 3TN

ORS # ephr g6 foa, fivemran mar 2
(A)  HTEmE = SEHME

(B) St & HW

(C) =

(D) FEAH

Hife® ata 37EN 6 =98] QurEy Jel
T

(A) =E T
(B) =11 9T
(C) el H1 16
(D) Fodasdl

=t i ul=d W w2 Wl | ae e
T fern Fora e B

(A AW ] T

(B) =R

(C) 3uwEM

(D) e =
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141. A protein present in the blood cells
{A) Rhfactor
(B) pH factor
(C) Aafactor

{D) None

142, Organ that separates the mother's

blood stream from embryo
{A) Placenla
(B) Uterus

{C) E)wm

(D) Urmbilical cord

143.

is a process by which
minerais and other substances are
added to the cartilage and make bone
harder.

(A)
(B)
{C)
(D)

Classification
Assimitation
Ossification

Chromatin

144, is a test whare high

frequency sound waves are beamed
at the uterus.

(A)
(B
(S
(L)

Feloscopy
Ultra sound
% ray

Eliza tast

A

145,

148,

147,

148.

“Child development is a field of study
devoted to the understanding of all
facts of human growth and

development”. Is a definition given by
(A) Berk

(B) Harries
{C) Hurlock
(D) Papivea and Olds

"Vemix Caseosa’
(A) Covars entire body of foelus to
protect against jerks

(B) An agent which causes damaga
(C)

()

Prevents skin frorm chapping
It Is & period of foetus

Primary socialization takes place in
(A} Infancy

(B} Childhood

{C) Adolescence

(D) Ali of the above slages

Man's special mental abilities can be
distinguished at the age of

(A} 5

B 7

(C) M

(0} 15




141.

142.

143.

144.
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(A) RhEZF
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(&) e
(C) e
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(&) TherERIdt
(B] #ezEiEe
() ‘%1

(D) wferen v

145.

146.

147.

148,
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(A) T

(B) i

(C) ®EE

(D) Wi i steey

"Vemix Caseos'

(A) g9 WU T W wE | A=
wEA & for e @

(8) R HnF B g w2

(C) 7= e WA

(D) g s

T HTTTer A i i

(A) ==

(B) e

(C) e

(D) S aft s

Wt 1 e g avaa @ I
g e SATE F O] B

(A) 5

B 7

)y 1

(B} 15
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149,

150.

181,

152.

A

The cause of phobia could be
(A) Social

(B) Emational

(C) Classical conditional
(D) None

A child with leaming disabiliies iz
likety to have difficulties with

(A) Maths

(B} Reading

(C) slllegible hand writing
(D) English

A process ol change which s
redatively independent ol experlences

{A) Leaming

(B} Maturity

(C) Growth

(D) Developmeant

is a process by which

the newborn child iz moulded into
culture and hence becomes an
acceplable person in that society.

(A] Interaction
{B) Maturity
(C) Socialization

(D)  Development

153.

154,

153.

156.

=3

U0 R0 O R

According to Jean Piaget the
cognitive development has following
stage

(A} Sensorimotor period stage

(B) Functional stage

{C) Postoperational stage

(D) All the above

Psycho-analystic theory was
proposed by

(A} Marry Alnsworks

(B} Piaget

(C) Bowlby

(D) Freud

i3 the time when sexual

maturity is reached
(A) Adolescent
(B) Puberty

{C) Phallic staga

{D) None of the above

Cephalocaudal principle tells 1hé
davelopment from

1A]  Inner layer

(B] Outerlayer

{C)  Innerto outer

(D) Topto bottom
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(B) wEn S
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1583,

154.

155.

1566.
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(C) I-Ni=TE =9

(D) Zui o
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(A) T TR
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(C) el

(D) Wwigs
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(A) TersiEE
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157. The sense ol taste is very weak al 1681, __ values are thosa that
birth stand alone and are important and
(A) True desirable simply tor their own sake.
(B) False (A) Instrumental value
(C) Absurd (B) Instrinsic value

() oot srisind (C) External value

158. _ ___is the third part of (D) None of thesa
personality development.
A Id 162. "A value is always imporiant to the
) Ego parson who holds it". Who said this 7
) !.uper Ego (&) Ciyde Kluck Hohim

(C) Freud
159. Problems may stem for a child with

. . D} Gross and Crandall
learming disability because of his =) s

inability to 163, are difficult to measure,
W Omganiee ire (&) Values
(B) Prioritise activities
:I (B) Goals
({C) Grasp verbal and non vearbal
(C) Standards
concepls
(D) Al of thesa

(D) Communicate effectively

160. Some behavioural abnormalities that 184. Paolice protection, roads and tETF'Ip[EE ]

seem (o Indicate problem children are elc are examples of

(A} Steafing (&) Temporal resources

(B} Lying (B) National resources

(C) -Anncying (C} Community resources
(D} Running (D) World society resources

Ax <35
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180,
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163.

164,
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165.

166,

167,

Pick the odd one among the

characteristics of resources.
(A} Useful

(B) Accessible

(€}  Unlimited

(DY Inter- changeable

The acMvities which pile up on each
other at packed periods are called
(A} Work curves

(B) Peak loads

(C) Timea load

(D) MNone of these

Due to lack of sufficient O, the parson
experiences fatigue.
{A} Physiological fatigue
(B) Psychological fatigue

(C) Boredom fahigue

(D) Frustration fatigue

168.

165,

170.

Lo
U Y 0 0

Three classes of change was
proposed by

(A) Mundell

(B} Gross

(C) Crandall

(D) Gross and Crandall

congists of a senes

of decision making process of using
family resources 1o achieve family
goals.

(A) Home managemenl

(B) Business management

{C) Resource management

(D) MNone of the above

____ I=the process ol selecting
one course of action from a number
of possible alternatives to solve the
problem.

(&) Crux
(B) Decision making

(C) Feadform and system

(D} None of these
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g ®

172,

173,

A

A step to step description of flow of
movements in the task to avoid
unnecessary motion

(A) Operation chart

(B} Pathway chart

(C) Processchart

(D) Chrone cycle chart
\

Home management is a process of

using what you have to
(A} Getwhat you wani
(B) Getevarything
{C) Getsomething

(D} MNone of the above

"Getting resuits through people” is the
description of

(Al Training

(B) Controlling

(C) Managament

(D) None

174,

175.

1786,

T U

The important difference batween a
‘Home' and a "House' is

(&) Physical

(B) Environmental

(C) Emotional

(D) Terminology

s one of the sources

of value.
{A} Man
(B} Woman
{C) Language

(D} Culture

sl the family is not only the best
conveyorol values, but is the producer of
values,,." — who stated this 7

(&) Nickell and Dorsey

(B) Grossand Crandall

{C) Mundell

(D Leonard Mayo
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171.
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174,

175,

176.
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177. Playing helps to attain good health. 181. Aprons Bibs and Curtain made of

plastic instead of cotton help in
It is an exampie for

reduction of
(A) Intrinsic value (A} Time
: :: J|: :tmrumanml value (B) Energy
{ﬁ: None iy
() Nane

178. Steps in controlling include

{A) Incentive 182. Castiron conducts heat

(B) Checking (4 Stowly
(©) Aiustment (B) Bad conductor
(D} Al (C) Surfily and evenly
(D) None
179. Human resourcas at our disposal
mclude 183. ‘Teflon Coat’ the term means lo us
(Al Skills (A) Trade name
(B Krowedgs (B) Silicon finish
oV Eney (C) Reasonable price

(D) Metabolism (D} Savestime and energy

180. ‘“Work is the consclous seeking of the
1B4. Iron can be prevented from forming

simplesl, easies! and guickast

. . o rust by
method of doing work”. This definition

(A} Asmall coat of grease applied on

is by

(A} Nickell and Dorsey the surace of iron
(B) Gross and Crandall (B) Freguent washing
(C} Lillian Gilbreth (C) Wiping it clean

(D} Gilbreth (D) Notusing it on heat
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185. Forms are closely related with

(A} Circles
(B) Square
(C) BRectangle
(D) Lines

1B6. A progression of sizes Is another
technique to achieve rhythm. It is
called

(A) Palance
(B) Emphasis
{C) Proportion
(D) Gradation

187. 'When all the elements of design are
nicely related, the design has

(&) Proportion
{B) Emphasis
(C)  Unity

(D) Formal balance

188. Amount of lightness or darkness in

calour is

(A) Hum

(B] Value

(C) Intensity

(D} Complamentary

B

189.

180

191.

192.

00 0 O

“A Text Book of Household Ars” is
written by

(A) Stella Soundarara)
(B) Hutl

(C) Friedman

(D) Pramila Mehra

A combination of vertical or honzontal

and diagonal lines produce
__foms.
(Ay Circle
(B) Triangle
(C} Square
(D) Mone
: label tells us the

composition of a product user 10

whiich it can be pul, how it is made.
(A) Brand

(B) Grade

{C) Descriptive

(D)  Informative

Environmental noise Is a
(A) Physical barries
(B) Semantic barner
(C) Technical barmer

DY Social bamer
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183. Message has three components 187. Inplanning exhibits the nderstanding
(A) Code, content, freatment should be
(B) Knowladge, attitude, interest (A) Good
(C) Initial, derived, terminal (B] Simple, attractive, with one idea
(D) MNone of the above (C) Expensive

(D) MNot related

184, function is an important

aspect of communication and is 188, A mobile is a

undertaken in formal as well as _ _
(A) Visual medium
informal organisations.

4 (B) Pictorial hanging with cords
{A) Integrative
C) Light weight
(B) Instructive (@ Lg g

D) Al the above
(C) Influencive (o) B

(D) Informative 189. In oral communication the % of

i t
185, Differant roles of extension worker are InfORmRNGH a8

(A) Guide and expert (A} 30%
(B) Enablar (B} 40%
{G) Therapist (C) 20%
(D) All the above (D) 10%

186. The role of co-ordinator in a satellite 200. Chan, diagrams, pictures etc. play a

programme i3 significant role in making

{A) Crucial (A} Eye contact

{8} Difficult (B} Ideas clear and comprehensive
(&) Time consuming (Gl Visual impact

(D} Expensive (D) None

A=
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11. This booklet contains 48 pages.

12. Pleasa check all the pages of the Booklat
carefulty, In case of any defec!, please ask
the Invigilator for replacamant of the Booklet,

13. Directions : Each question or incomplete
statement is followed by four alternalive
suggested answers or complalions, In aach
Ccase, you are required o salect the one that
comactly answars the guestion or complates
tha staterment and blacken (@) appropriate
circle A, B, G or D by BlusiBlack Ball-Point Pen
against the question concerned in the
Answer-Sheet. (For V.H. candidates
carresponding circle will be bleckened
by the scribe)

14, Mark your answer by shading the appropriate
circle agains! each guesiion. The circle should
be shaded Sompletety without leaving any space.
The: carmect method of shading s given below,
[iArorg Msrerd itiorg Mathon iy Mot | Comed Msthon

1=l Tel=] (o] Jele] (o] Tels] (sl Lulal

The Candidate must mark hisher response
after cargful consideration,

15. There is only one corract answer 1o each
guestion. You should blacken (@) tha circla
ol the appropriate column, viz., A, B, Cor D,
if you blacken (@) more than one circle
againsl any ona question, the answer will be
treated as wrong. ! you wish 1o cancal any
answer, you should compietely erase that biack
mark in the circle in the Answer-Sheet, and
then blacken the circle of revised esponse,

{B. A maching will read the coded infarmation
in the OMA Answar-Shaat. In case the
information |s Incomplete/different from the
information given in the application form, the
candidature of such candidate will be freated
gs cAnceked,

17. Use tha space for rough work gieen in the
Question Booklel anly and nal on the
Answer-Sheal

18. You are MOT required to mark your answers
in this Booklel. All answers must be
indicated In the Answer-Sheet only.
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